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If x>~ xy=0, o = o o= O 13
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If the curve of the functiony =a e* has an
inflection point at (1, 1)

where a, b are constants, thenab € ...........
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If the opposite figure Y X : olaadl el o\ 130
represents the curve of the f(x) ()5 N omie oo
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If the slope of the normal to the curve of the | kadl o o5l Joo O 13

function: y = () at any point (X, y) lies on At gl wis ()5 = o2 A o

. (o B w8 Lo ‘ ale

it equals (sec X csc X) and the curve passes (:’w ;: ) g5l (2 e o) L§

(—— « ) &l o ol OB

through the point (I, =), then the curve A ,

6 8 e Ol PR s éaﬁ.: M\ QP

cuts y-axis at the point ... Wazdl

@(0,_71 @(o,%) L) @ & @
1 i " .

© 0.2) @ (0,0 (siosi0) () (%uw)@

CCP/0 0 Joll joaJl — s alpol) Gulihl) & A nj



YorY/Yery - 0 TR R - ofssen [
Y 1l - 331 3901 13401) 13 L1 - (Gl 1) Aol kg -l gl a1 pLEY g

k
2 var
[ Jiexdx -5 o8
AL
thenk: ........... A\ 4E; u"’+€J .\‘@J_
........ @J&\;
@ 2

CCP/000 Yol jgall - Gmalyol) dylinl) G A uj



YoXE/YXY oal yoll plalf - J 981 5 9l - (A o1 201) JolSC g Sl - (Dol ) Al At - Al oy 311 sl ol ALGSH Bl il

1O d J15w JS) (ddaie (pe HLisY1) A gud gad! Al -LAG

W

The curve of the function: Xy = ¢” has Ld d Yo = o AW e
a local minimum value at y = ===« | e = P P e e
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The equation of the tangent to the curve
y =X+ In (cos X) at a point that lies on it

and its X - coordinate equals zero is ...........

@ y+x=0
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A metallic ball of radius length r cm
expands preserving its shape.

If the rate of change of its volume is

8r cm?/sec at a certain moment,

then the rate of change of its area at this

moment equals ........... cm?/sec
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In the opposite figure:
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A circle its centre is the origin, and its

radius length is 5 length units, then the

volume of the solid generated by revolving
the shaded region a complete revolution
about Xx-axis equals -----
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----- cubic unit.
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If the straight line y = m X — a is the tangent
to the curve x> + y? = 5 at the point (1, 2), X
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If f(x)= T e|x| , then the local maximum

value of the function f equals
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Find the absolute minimum value of the function

f:f00)=2/(x—8) +1, where x€[ 0,9 ]
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In the opposite figure:

If the area of the shaded region equals

(a® — 4) square units, find the value of a.

f(x) = e¥—1
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